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0.00 0.02 0.04 0.06 \0.0SS 0.10 0.12 0.14 0.16 0.18

0.0 0.500 0.508 0.516 0.524 0.532 0.540 0.548 0.556 0.564  0.571
0.2 0.579 0.587 0.595 0.603 0.610 0.618 0.626 0.633 0.641  0.648
0.4 0.655 0.663 0.670 0.677 0.684 0.691 0.698 0.705 0.712  0.719
0.6 0.726 0.732 0.739 0.745 0.752 0.758 0.764 0.770  0.776  0.782
0.8 0.788 0.794 0.800 0.805 0.811 0.816 0.821 0.826 0.831 0.836
1.0 0.841 0.846 0.851 0.855 0.860 0.864 0.869 0.873 0.877 0.881
0.885 0.889  0.893  0.896 0.903  0.907 0.910 0.913  0.916
1.4 0.919 0.922 0.925 0.928 0.931 0.933 0.936 0.938 0.941  0.943
1.6 0.945 0.947 0.949 0.952 0.954 0.955 0.957 0.959  0.961 °0.962
1.8 0.964 0.966 0.967 0.969 0.970 0.971 0.973 0.974 0.975 0.976
2.0 0.977 0.978 0.979 0.980 0.981 0.982 0.983 0.984 0.985 0.985

Table 5.1: Table of Normal(0, 1) probabilities. For X ~ Normal(0, 1), the table gives values of P(X < z)
for various values of z between 0 and 2.18 upto three digits. The value of =z for each entry is
obtained by adding the corresponding row and column labels.

By = P(X < larost)

—_ )



Examle 57271 N e Al bap et cashess

AW J\ eack WAy — 222 9™
- («\'(M Ly I
NTLEN M)”‘\"M >
— ekt hoy Ao = BV oS = 4

/)\: 2.°>

H
Queshn - How by o i = (45 9ms ¢
—— | , ’(_C” e an :

Las LS by e

l
@
N
[N
l
A
T

SYymmdny \ & | — (% (2= S/‘r]

C!\\llw\‘d\m
Pz < 125 )
— ‘
0.00 0.02 0.04 0.06 0.08 0.10 0.12 0.14 0.16 0.18
0.0 0.500 0.508 0.516 0.524 0.532 0.540 0.548 0.556 0.564 0.571
0.2 0.579 0.587 0.595 0.603 0.610 0.618 0.626 0.633 0.641 0.648
0.4 0.655 0.663 0.670 0.677 0.684 0.691 0.698 0.705 0.712 0.719
0.6 0.726 0.732 0.739 0.745 0.752 0.758 0.764 0.770 0.776 0.782
0.8 0.788 0.794 0.800 0.805 0.811 0.816 0.821 0.826 0.831 0.836
1.0 0.841 0.846 0.851 0.855 0.860 0.864 0.869 0.873 0.877 0.881
0.885 0.889 0.8934—)\0.8961 0.900 0.903 0.907 0.910 0.913 0.916
1.4 0.919 0.922 0.925 0.928 0.931 0.933 0.936 0.938 0.941 0.943
1.6 0.945 0.947 0.949 0.952 0.954 0.955 0.957 0.959 0.961 ‘0.962
1.8 0.964 0.966 0.967 0.969 0.970 0.971 0.973 0.974 0.975 0.976
2.0 0.977 0.978 0.979 0.980 0.981 0.982 0.983 0.984 0.985 0.985

Table 5.1: Table of Normal(0, 1) probabilities. For X ~ Normal(0, 1), the table gives values of P(X < =z)
for various values of z between 0 and 2.18 upto three digits. The value of =z for each entry is
obtained by adding the corresponding row and column labels.
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